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Response = 3.688e-001 * Ant + 8.212e-003
Coef of Det (r”2) = 0.999846 Curve Fit: Linear
het hod Nane: Z:\voasrv\ HPCHEN1\ NSVCA X\ et hod\ 82X082522W. M
Cal i bration Table Last Updated: Fri Aug 26 02:03:28 2022



Vi nyl Chloride
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Response = 4.472e-001 * Ant + 5.265e-003
Coef of Det (r”2) = 0.999881 Curve Fit: Linear
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Response = 2.573e-001 * Ant + 6.177e-003
Coef of Det (r”2) = 0.999931 Curve Fit: Linear
het hod Nane: Z:\voasrv\ HPCHEN1\ NSVCA X\ et hod\ 82X082522W. M
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Response = 4.426e-001 * Ant - 3.567e-002
Coef of Det (r”2) = 0.997407 Curve Fit: Linear
het hod Nane: Z:\voasrv\ HPCHEN1\ NSVCA X\ et hod\ 82X082522W. M
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Response = 1.177e-001 * Ant - 2.367e-002
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Response 2.718e-001 * Ant
RF Rel Std Dev 12. 831% Curve Fit: Avg RF
het hod Nane: Z:\voasrv\ HPCHEN1\ NSVCA X\ et hod\ 82X082522W. M
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Response = 8.786e-001 * Ant + 1.242e-002
(r~2) = 0.999160 Curve Fit: Linear
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Response = 4.903e-001 * Ant + 8.024e-003
Coef of Det (r”2) = 0.999863 Curve Fit: Linear
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